Sr Questions Answers Choice

A e s
- Oeop

1 = s ol ame S Gy 5 )8 (il gy 5 e, RS

2 U =00 Sl S (dle o S (5ie S (alia,

2001 (e
2003
2005 (e
2007 ux

3 R Y o e pll S i S allie (e S,

140 - o
140

140 -
140 -s3

4 1973 W8 Lo Jaind € (5 Sa allia Cnd S 3 e (S 0l S

J.\m
alael n)s

5 S e (S a8 S (sl ) i o

il il Gl Cas

6 = (S s e S S e (S S (gen A

() )¢, IR=NN )

7 = I (S PSS i S iy CSE,

8 35 (S S S Jui S

9 = BS be 0B ool 5 S (o alad (S 8 lgea,

10 = plad) e R 8w als S e 5,

DOm> DO®P DOTP DOWF D0WP» UOTP 00> 0DO®P» U0UP 00



